wee WIEC 2017 Online Exam Review

cbac

WIJEC Psychology A Level Unit 1 2290U10-1

All Candidates' performance across questions

Question Title Mean Max Mark

Attempt %
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


	Eduqas 2017 Online Exam Review
	 WJEC Psychology A Level Unit 1 2290U10-1
	Item Level Data
	Facility factor graph
	Question 2
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 3
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 5a
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 6
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 7b
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked






Write the two digit question number inside leat
the boxes next to the first line of your answer Answer Hlank
Ysgrifennwch rif dau ddigid y cwestiwn yn y Gadewch
blychau gyferbyn & llinell gyntaf eich ateb Ateb yn wag

. The (oqnitive Cworoaoh and PSMCnOdHﬂﬂMl&
{app 0 'Qf e N
_fm@s OF the Nature versus nurture debate_

0f cm ldhood ~exve/nmﬁe4 O(Dza,mi the exmal &
foctors (outtur®) and the assumprion of the

tripanite, P nuutu whnen é/mcuﬂmq the (D,
_ﬁwzele%? an d/loN “explalt the. intemou fctos
(naturd). In the (Dcmntlvr: aoproach the Qssump-
HONs OF e mmw%ewe Computes analoqu and
Ndemal Mented woce).;é,e.A excolau\ e Ntemal
facront (notu rc) and the assumpton ef schema

explalnS rhe extermal fackon (nuture), Therefore.
both approached offer yalrd explapakions for

Lpothaspects of oMﬂW€lnuhon and
extemal, pnvironmenked  {actoiée

On thd@beher_nand, the cognitive. 0pproach and
e psychodynamic are Also  different i ome.
WA The mamhwi approoch (S very ientfc
and us auau’ratwe ‘and ouantmtwe meknac
Wnen CAYYing  ouk eseacch, an_exampe of

| this would te_ ek when investigeion] of

e (NEemod  Prowss of memoty  poad bzma
reseacthed, PET gans were U, Howener, the
Dﬂuchodunco(mc cpooch 1S NoN- gue/nhﬁc
anol méj theone s and explanakion g maode by
freud cannot be  Pastied. They coun neithes™
be prven of provedl wng. ’Ihm‘mi itcan

be arcfued here thoe the OOQNDIV& S More
olade. Han the rxucnodur\am\c due fo Mmode
1 @ vond ond eliabie metnads  used. B

| There are also  aimilantied teoween e

; IIIIIIIHIIIII




Sticky Note

Appropriate similarity clearly identified



Sticky Note

The similarity is explained with specific links made to the approach



Sticky Note

Mini conclusion adds depth to the discussion



Sticky Note

The answer is logically organised throughout



Sticky Note

As before, examples from the approach are used to add depth and make the overall discussion more thorough



Sticky Note

Clear conclusion drawn
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Sticky Note

This paragraph follows a similar structure to the two previous, using examples and a mini conclusion



Sticky Note

Overall the answer is thorough, displays depth and range and reaches appropriate conclusions. Therefore it meets the criteria for the top mark band
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Sticky Note

Appropriate similarity is clearly stated.



Sticky Note

Although some examples from the approach are given here this section tends to describe each approach rather than compare them as required by the question.
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Sticky Note

Clear difference identified.



Sticky Note

Examples from the approach add some depth to the discussion.



Sticky Note

Overall the answer contains both similarities and differences but lacks both range (variety of points) and depth (discussion of the comparison between the approaches). Therefore it is at the bottom of the 6-8 band.
















4. Compare and contrast the cognitive and psychodynamic approaches in terms of their similarities
and differences. [10]
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5. (a)

© WJEC CBAC Ltd.

Describe the conclusions made by Loftus and Palmer (1974) in their
research ‘Reconstruction of automobile destruction: an example of the
interaction between language and memory’. [6]

Credit could be given for descriptions of:

“The way a question is asked can enormously influence the answer that
is given”.

Effects lasted for a week.

Two kinds of information suggested for memory: perception of event,
information after the event. The two sources become integrated over
time.

Link to Carmichael et al. (1932) and Daniel (1972), role of verbal labels.

Any other appropriate description.

Marks AO1

5-6 |e Description and accuracy of conclusions is thorough.

o Depth and range are displayed, although not necessarily in
equal measure.

o Effective use of appropriate terminology.

3-4 |e Description and accuracy of conclusions is reasonable.
e Depth or range.
e Good use of appropriate terminology.

1-2 |e Description of conclusions is superficial or limited.
e Little use of appropriate terminology.

0 e Inappropriate answer given.
¢ No response attempted.
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Sticky Note

Superficial description of conclusions with limited use of terminology.
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Polygonal Line

Repetition of previous point so not credited again.



Polygonal Line

see below.
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Polygonal Line

This is social implications and not creditworthy.



Sticky Note

Overall a superficial description of the conclusions drawn by Loftus and Palmer in their original article.
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Sticky Note

Good use of terminology 



Sticky Note

Reasonable description of a range of conclusions means 4 marks can be awarded.
















(a) Describe the conclusions made by Loftus and Palmer (1974) in their research
‘Reconstruction of automobile destruction: an example of the interaction between
language and memory’. [6]






One othichl (5502 it Ld’#oj and Palmer’s J%udq

S FIAGF NG FCWA L AN e u\d&O OF g, \-:Rsﬁ%x

J
cor croch couvld Nowwe CO\U}&@\ emowomzu\

NN o F1e Dc\mc.oonH becous #hey puiol

oy gokten mgmL 01/1@ ;/ ku ve been //‘/ Q C/\&\]f\

Mﬁo(& szﬂ J# cou Lol bring Sack 40 ol NYMOY1)

/—\no#mr 1SS LR, J et Fia Jl)orhc/pa/)ﬂ Logre dUA

SRS anO\ Flaerefare fho MUH:Y CoNnoF be

mm.sed ond a0 Flnoy 'R L0d) ex@mowm

dfv\/u’“\ I/UM/CL'( Cou (ol /mwz @/é?(’#@d Flg }'“65(//75r

Althovgin Hre Daﬂ/(/no\ﬂff cocel ave i Haclrand)

d“"””’j/'_NL QK/?G'/“W\Q/L% Frey Mmigid nof howe felt |
o r< &
Ov(rollR  OSking to (Q(,\UQ 0§ Fhey LRYVR 1N OF

5 (LI
8705






Wr
the

bly

Write the two digit question number inside

the boxes next to the first line of your answer
Ysgrifennweh rif dau ddigid y cwestiwn yn y
blychau gyferbyn & llinell gyntaf eich ateb

Answer
Ateb

contrenied lab e n\Wiroriment











Ore eXical vsUa Q_OACQ@AA%*LO_MAECLM_V_

Ateyeoh & ke Ehe DD’@ lhad 6\/\;@4 mﬁewm@_

T & because ﬁALKAj voe,re noé& tolol @w Er e O
OL B Kbuui,u wWudh e JMI/‘(’WM aAnsttor Hoas

_M%%WEQLMW@@@ a,moL/L alke~ |

_MMWMMQ%LM%_
_Léwflﬁ_mgﬂ«eﬁw&_ww uaure {@a@)&a{ £

MﬁJMamUA_ T mmd were 4old e e ouncy U/wu

RWDMM%&LA@WM&M OLMA(‘?[M
Xﬂ—roa._m»ﬁmom o Re2oi, to oo tuekludal . |

Amtbdlf‘ m 3 ?mh’mﬁl‘@u ona . Lnl‘:l—'m ond

Pl ourordad A sstie by gy N (Lu?z&
w000 of o tral O\QL(OLOMI- Hal (”Lw,u olnmd (Lo

_W@_M_émbwmj COL nmrml em(- (flu“ coudd

__MMMMA@MW—_

_Mu%m_umwm of o wien
oogod.. _

T é:@uo:l I‘\M‘?\\;M Q{l e ?s’—\-udJLj ot U&;j
.

L,QJH%AJ to o becace vl @ ow e Quidece

()/‘ Hae P[ﬁﬁ/: OA tdano Lgen:d;%._m_&aé&@r___

_Mglzu@_tf_@é ay\d Pg//ce, lac gg_d ele Can

-

L ore. (“a«%éa,{ M_Mmuﬂm@&b%_¥_
/«déuzs oumd  dnges  reroouc @@m el cald

/kmd u.b—elzul é—u Ho Abouve Q@wul:z fhlot auatd.é

_;&;L_IQB:LLL f}[ Liary  ocund 6&1, A@c,(ajhtw//e'a:hm

_gzamw_éc«e@ JthOLHn ti_/\i Ol oA

/«ﬂ/(p (N * M%\Mﬁ_wﬁ MQ,)nAMA COndent
_buj;—/f o “e/LA. eI wﬁ\ cooudd ot Oke

5 L
8706











ol
T2 T eyl LrediieSs M**“

8709






Write the two digit question number inside

the boxes next to the first line of your answer Answer
Ysgrifennwch rif dau ddigid y cwestiwn yn y
blychau gyferbyn & llinell gyntaf eich ateb Ateb
d o ﬁﬂ.uj  wowdoh  howe Ayweek hoveles

10

|
87

|
1

0

Leave
blank
Gadewch
yn wag

















(b)

© WJEC CBAC Ltd.

Discuss the ethical issues and social implications of Loftus and Palmer’s
(1974) research ‘Reconstruction of automobile destruction: an example of the
interaction between language and memory’. [8]

Credit could be given for discussion of:

e Ethical Issues: use of deception to prevent demand characteristics, risk
of harm due to viewing car crashes, lack of valid consent.

e Social Implications: use of eyewitness testimony in court, impact on
previous convictions, cost of retrials, interview technigues used by police.

e Any other appropriate discussion.

Marks AQO3

7-8 Discussion of the research in relation to ethical issues and
social implications is thorough.
Depth and range are displayed.
Evaluative comments are clearly relevant to the context.
Structure is logical.

5-6 Discussion of the research in relation to ethical issues and
social implications is reasonable and shows some coherence.
Depth and range is displayed, although not necessarily in equal
measure.
Evaluative comments are clearly relevant to the context.
Structure is mostly logical.

3-4 Discussion of the research in relation to ethical issues and
social implications is appropriate but basic.
Reasonable discussion of the research in relation to ethical
issues OR social implications.
Evaluative comments made tend to be generic and not
contextualised.
Structure is reasonable.

1-2 Discussion of ethical issues and/or social implications is
superficial.
Answer lacks structure.

0 Inappropriate answer given.

No response attempted.
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Polygonal Line

Not credited as this is a methodological criticism rather than ethics or social implications as required by the question.



Sticky Note

Relevant issue identified but lacks discussion e.g. this method being less distressing than viewing a real life crash.
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Sticky Note

Social implications not covered so a maximum of 4 marks is available. 
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Polygonal Line

Conclusion not required as this is only an 8 mark question.



Sticky Note

Both ethics and social implications are covered as required by the question.



Sticky Note

Reasonable discussion of appropriate ethical issue with clear links to the context of the study.



Sticky Note

Reasonable discussion of appropriate ethical issue with clear links to the context of the study.
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Sticky Note

Discussion of issue is evident and clear links are made to the context of the study.
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Sticky Note

As above.



Sticky Note

Social implications are not covered so this limits the marks to a maximum of 4.
















5. (b) Discuss the ethical issues and social implications of Loftus and Palmer’s (1974) research
‘Reconstruction of automobile destruction: an example of the interaction between
language and memory’. [8]
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6. Critically evaluate Raine, Buchsbaum and LaCasse’s (1997) research ‘Brain
abnormalities in murderers indicated by positron emission tomography’.

[12]

Credit could be given for evaluation of :

¢ Methodological Issues, e.g. use of quasi-experimental method, unable to
determine cause and effect.

Validity Issues, e.g. use of PET scans.

Ethical Issues, e.g. valid consent, right to withdraw.

Sampling Issues, e.g. use of murderers, control group.

Social implications, e.g. use within the justice system.

e Any other appropriate evaluation.

Marks

AQO3

10-12

Evaluation is thorough.

Depth and range are displayed.

Developed and balanced arguments are made.

Evaluative comments are clearly relevant to the context.
Structure is logical.

An appropriate conclusion is reached based on the evidence
presented.

7-9

Evaluation is reasonable.

Depth and range is displayed, but not in equal measure.
Arguments are reasonable but may be one-sided.
Evaluative comments are clearly relevant to the context.
Structure is mostly logical.

A reasonable conclusion is reached based on the evidence
presented.

4-6

Evaluation is basic.

Depth or range.

Evaluative comments made tend to be generic and not
contextualised.

Structure is reasonable.

A basic conclusion is reached.

1-3

Evaluation is superficial. Material is muddled.
Answer does not move beyond assertions.
No conclusion.

Inappropriate answer given.
No response attempted.
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Polygonal Line

Although it is tempting to add a description of the study as an introduction in a question like this it is not necessary and could waste valuable time. The answer should focus on the requirements of the question only i.e. evaluation of the study.



Sticky Note

This is quite a generic comment as in this case there are more male murderers in prison than females so this may be a fair representation of the target population. Also given the nature of the study this was a reasonably large sample.



Sticky Note

This is another generalised comment as really there is nothing to suggest murderers brains in the USA are any different to in other cultures so this point attracts very minimal credit.



Sticky Note

Another very general criticism that could be about any study that used an opportunity sample. There is no specific reference to Raine's research so again the answer can be considered to lack context.



Sticky Note

As with all the other previous points this is superficial and general evaluation. Therefore the answer cannot move above the bottom band.
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Sticky Note

A relevant point is clearly stated and linked to the study although more discussion could have been added about why this is an issue.



Sticky Note

As before the point made is relevant and linked to the study. However further discussion could have been added to develop the argument further e.g. the efforts Raine went to control other variables and how this may have contributed to the overall validity of the research.



Sticky Note

A good range of points is being covered in this response.
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Sticky Note

These last two comments are more generic and do not add much more to the answer.



Sticky Note

Overall there are a good range of points, most of which are well contexualised. However the answer lacks the depth of discussion and drawing of conclusions necessary for the top band
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Sticky Note

The last point is not really relevant to this study.



Sticky Note

See answer A - this is a weak point to make in the context of this study.



Sticky Note

The points made are very superficial and generic throughout
















6. Critically evaluate Raine, Buchsbaum and LaCasse’s (1997) research ‘Brain abnormalities in
murderers indicated by positron emission tomography’. [12]






VAL 4 _ o

Write the two digit question number inside

the boxes next to the first line of your answer
Ysgrifennweh rif dau ddigid y cwestiwn yn y AI’;SV\LGI’
blyci o Zoy e fa

T4 Ik pode pyonstogst Moy e Muncjul e o an 5
Joppropuote  thorapy o DOWQONE b Sug IO POV &
_ax\m.o/t\y AepIOOV 0 MooN, At Mmﬂg@ Ao ocuent |
14 Bande abews and. @ouss ovn ko, hote and nguy Auon L
o breakiins podkon  ond ko neyooaon: [t pow o
ren  proven to umprume the  happun ap  Gncety ond [
| RPNV AUDpILID (s w=<\L an umpw Ane heodha |
404 oo LU pednontd o hm{:wt&(] wooely - L&
A etwacolly se=k gcund. op vt oloonkt e any _
_po&o«\o—m\rrj(/w() hooen lzxj W\ﬂ wp tho pant, un o n

Jdothe  Khovupun  juth as %WLC eloyenn uan oy =

{and memj%a. u











7 Q

M GZULOVU\W Of \Afe -+\’\ero\pu\ OO

e Sv\o\q@m I TGN \Oomnce Psu\choqw

OO it \”etow;;s o Une approcieh. Tt LWL

Lhe oDumpron free Wil wiithin it .

Wing Sigretsr tne  direcnon from

Selr’ to JQU'CM Toudarcl3  PoyHwe emernony

It abe  pes the apefoach. +0e good Ufe

whi)e €xPre§qu Y%%?Nu%\@%u}nq €r16]CLQ}na,

QcHutes  dnd ‘f’lavzr\q POBIH\/€J(onn€CHorb

Wihh Othes Can help ' “ have a PODI Nu<

Life.

Q7N7











Write the two digit question number inside

the boxes next to the first line of your answer Answer poste
Ysgrifennweh rif dau ddigid y cwestiwn yn y Gadewch
blychau gyferbyn & llinell gyntaf eich ateb Ateb yn wag

==

—

(o

og A pIYCho logisrr  wnoud view ananckodng v

o o oppropaald Hhoropayy o0 ik LA

D = T 2 e) Lo mphion s ‘\’V\Q% e neuve i N .

TYe posrihive  approoch oeleves Yvar e

srnoudd feCd N o Ceaalif-Vile MRS e s

hoOpY) eMohont ole yunk O OO ca

on ragoNue ot TIAAL Ew0a un WY

e

AN AEUAADL ff oS oo WO Copy o W o lovos

Ppmom > .:)m\/\ con ro i ENVEer “xwva i

.t—V\Cl\JQ\\/\"fJ s Va Yan T Vol A, \r\r'\\r\mk)\ el

A —=—a

oo h ve o Mooy asread of fFocaul i No- no, ¥
or. UG Vo U VA RS C W ol Y 2 @)

NI

















7. (a)

© WJEC CBAC Ltd.

Explain why a psychologist from the positive approach would view
mindfulness OR quality of life therapy as an appropriate therapy. [5]

Credit could be given for explanations of:

¢ Promotion of character strengths.

e Free will approach to therapy.

o Effectiveness.

e Link to assumptions.

o Reference to other therapies.

e Any other appropriate explanation.

Marks AO2

5 Application of knowledge linked to the approach and therapy is
relevant.
Explanation and level of accuracy is thorough.
Exemplars used are well-chosen.
3-4 Application of knowledge linked to the approach and therapy
has some relevance.
Explanation and level of accuracy is reasonable.
Appropriate exemplars are used.
1-2 Application of knowledge linked to the approach and therapy is
superficial or muddled.
Explanation is basic.
Exemplars are not always made relevant.
0 Inappropriate answer given.

No response attempted.
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Polygonal Line

This is a description of what mindfulness is and therefore does not really address the requirements of the question. As it is an AO2 question the focus should be on applying knowledge of the assumptions of the approach to the use of this therapy or perhaps applying knowledge of effectiveness studies to explain why this is an appropriate choice of therapy.



Sticky Note

Rather than focus on the assumptions of the approach this candidate has used knowledge of effectiveness and ethics. However this is only done in a reasonable manner as the link to the method of the therapy is not made clear.
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Sticky Note

The candidate has made clear reference to the relevant assumptions of the approach and the explanation is reasonably accurate. However the answer would benefit from a clearer explanation of how these make the use of QoL therapy more appropriate than others for example.
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Sticky Note

Clear reference is made to the assumptions of the approach although they could be more thoroughly explained.



Sticky Note

A clear link is made between this assumption and the aim of the therapy and therefore there is enough explanation for 4 marks
















7.

(@) Explain why a psychologist from the positive approach would view mindfulness OR quality
of life therapy as an appropriate therapy. [5]

© WJEC CBAC Ltd. (2290U10-1)
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(b)
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Describe the main components of mindfulness OR quality of life therapy.

[10]

Mindfulness

Credit could be given for description

of:

¢ Meditation and mindful breathing
processes.

e Specific examples such as
Mindfulness Based Stress
Reduction (MBSR) and the .b
schools programme.

¢ Role of informal practice.

¢ Role of therapist.

e Any other appropriate description.

Quality of Life Therapy

Credit could be given for description
of:
e Use of Quality of Life Inventory.
¢ CASIO model (Five Paths to
Happiness).
Three Pillars.
¢ Role of therapist.
Any other appropriate
description.

Marks

AO1

9-10

Logical structure.

Description and level of accuracy is thorough.
Depth and range are displayed.
Effective use of appropriate terminology.

Description and level of accuracy is reasonable.

Depth and range is displayed, but not in equal measure.
Good use of appropriate terminology.

Structure is mostly logical.

3-5
Depth or range.

Structure is reasonable.

Description and level of accuracy is basic.

Some use of appropriate terminology.

1-2

Answer lacks structure.

Description and level of accuracy is superficial.
Little use of appropriate terminology.

No response attempted.

Inappropriate answer given.
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Sticky Note

The answer has a mostly logical structure.



Sticky Note

There is good use of appropriate terminology throughout.
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Sticky Note

This is a reasonable description of mindfulness therapy but would benefit from details about a specific example such as MBCT. Without this both range and depth are restricted
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Polygonal Line

This is a description of assumptions rather than the therapy so cannot be credited in this question.



Sticky Note

Some relevant knowledge is displayed in this response but it lacks depth and detail thoughout
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Sticky Note

Overall this is a very superficial description of mindfulness therapy and therefore cannot move above the bottom band. There is little use of appropriate terminology and it is very repetitive



Polygonal Line

This repeats what has already been said.
















(b) Describe the main components of mindfulness OR quality of life therapy. [10]
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WJEC GCE AS PSYCHOLOGY - UNIT 1

SUMMER 2017 MARK SCHEME

1. Describe the methodology and procedures of Bowlby’s (1944) research 'Forty-four
juvenile thieves: Their characters and home-life'. [10]

Credit could be given for description of:

Use of case studies.

Characteristics of sample, e.g. 44 thieves, 44 emotionally disturbed children as
control group, involvement of mothers.

Information gathered by Bowlby and colleagues, e.qg. intelligence test, emotional
attitude, interview by social worker, use of school reports.

Ongoing therapy process lasting six months or more.

Any other appropriate description.

Marks AO1

9-10 o Description and level of accuracy is thorough.
o Depth and range are displayed.
o Effective use of appropriate terminology.

6-8 e Description and level of accuracy is reasonable.
Depth and range is displayed, although not necessarily in equal
measure.

e Good use of appropriate terminology.

3-5 e Description and level of accuracy is basic.
e Depth or range.
e Some use of appropriate terminology.

1-2 o Description and level of accuracy is superficial.
e Little use of appropriate terminology.

0 e Inappropriate answer given.
¢ No response attempted.

© WJEC CBAC Ltd.
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Polygonal Line

Some minor inaccuracies in this section.



Sticky Note

The answer uses appropriate terminology throughout.



Sticky Note

Thorough description of both methodology and procedures is provided as required by the question.



Sticky Note

Depth of knowledge is displayed with specific details given from the original article.
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Sticky Note

The answer is organised clearly and displays the range and depth needed for the top band.
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Sticky Note

The answer lacks detail but what is included is generally accurate.



Sticky Note

Limited information on procedures of the study means that range and depth are both lacking in this answer.
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Sticky Note

Throughout the answer there is relevant and accurate information but it lacks detail e.g. the Binet Scale, how the participants were matched.



Sticky Note

Information given is reasonable and there is some use of appropriate terminology
















1. Describe the methodology and procedures of Bowlby’s (1944) research ‘Forty-four juvenile
thieves: Their characters and home-life’. [10]
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8. Using examples from psychology, explain the behaviourist assumption of ‘behaviour
learnt through conditioning.’ [6]

Credit could be given for explanations of:

¢ Classical conditioning; reflexive response, use of neutral stimulus, Pavlov’s
dogs, aversion therapy.

e Operant conditioning; consequences of actions, reinforcement and punishment,
Skinner’s rats, token economies.

e Any other appropriate explanation.

Marks AO1

5-6 ¢ Explanation and accuracy is thorough and clearly linked to examples
from psychology.
o Effective use of appropriate terminology.

3-4 ¢ Explanation and accuracy is reasonable and linked to examples from

psychology.
e Good use of appropriate terminology.

1-2 | ¢ Explanation is basic.
e Link to examples from psychology may not be clear.
e Some use of appropriate terminology.

0 e Inappropriate answer given.
¢ No response attempted.
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Sticky Note

Both types of conditioning are covered which adds detail to the explanation.



Sticky Note

There is effective use of terminology throughout.



Sticky Note

The explanation of the assumption is detailed and thorough.



Sticky Note

A specific example linked to psychology is clearly explained.
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Sticky Note

A clear link to an example from psychology is given.



Sticky Note

The answer could be more concise given the number of marks available but it fulfills all the criteria for full marks
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Sticky Note

Links to psychology in the form of relevant examples are given for both types of conditioning. However the answer lacks a thorough explanation of the conditioning process and use of specialist terminology
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Sticky Note

There is some good use of appropriate terminology in this answer.



Sticky Note

Both types of conditioning are explained at a reasonable level however they both lack a full example linked to psychology and therefore marks are limited by this
















8. Using examples from psychology, explain the behaviourist assumption of ‘behaviour learnt
through conditioning’. [6]
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* Write the two digit question number inside

the boxes next to the first line of your answer Answer '5?;‘1"?
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2. Using examples from psychology, describe two assumptions of the biological

approach.

[4+4]

Gage.

Credit could be given for descriptions of:

¢ Evolutionary influences: natural selection, sexual selection, fight or flight
response, parental investment theory.

e Localisation of brain function: lobes of the brain, Charles Whitman, Phineas

¢ Neurotransmitters: process of neurotransmission, serotonin and depression,
dopamine and schizophrenia.

e Any other appropriate assumption.

Marks (per
assumption)

AO1

4

Description and level of accuracy is thorough and clearly linked
to psychology.
Effective use of appropriate terminology.

Description and level of accuracy is reasonable and linked to
psychology.
Good use of appropriate terminology.

Description and level of accuracy is basic.
Link to psychology may not be clear.
Some use of appropriate terminology.

Assumption is identified only.
OR

Description is superficial.
No link to psychology.
Little use of appropriate terminology.

Inappropriate answer given.
No response attempted.

© WJEC CBAC Ltd.











The fut assumption oF He__oiologiced epproach
S 100adi SN of braun FUrehon. THiS assumpron
IS the jded that cerauny areas of our brain (a(ru
out_different  Funchions. The cerebrad (oftex iS
_fDem/ted INto  four different 100es wnich
muude - the  frontad, panetal | t@poral and
ocmm\al Lobes. For exomp\e Hhe anra\ |ote.
S linked  with oe/rxor\cumx aKing and ceakvi-
Y. Along with 1oUisahon of bl aut funeon
IS QSSUMpHON oSO pvickes evidence {or
Jocausaeton of mnauaa{ This is He idet theuk
CefoLD  Queas Of our braln i [thked 0 the
Jdprteesq of langu The frenth peurocdrgeon,
_MQFOUHd thﬁovt damage. to the leTt
1 hemispnece of the brau can (ause problem

Wwith the processing ot languge, he named it
"Brocas Areqa! y

The Second assumpr

non_6f the Binlogical Ppproach
1S Neuno ranem it

_ Neurpns  are- eleckaud Y

e ]

; T




Sticky Note

Appropriate assumption is clearly identified.



Sticky Note

Appropriate assumption is clearly identified.



Sticky Note

Appropriate terminology used effectively throughout to add detail to the description of the assumption.



Sticky Note

Assumption is clearly linked to psychology with the use of an appropriate example.
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the boxes next to the first line of your answer Answer
Ysgrifennweh rif dau ddigid y cwestiwn yn y
blychau gyferbyn & llinell gyntaf eich ateb Ateb

exated ceus that form the tasis OF OUrnevous- L
custem . Ar Hhe end of these. ceMs Qe dendnes |

vy

which branch out and — onneck NUmNS Wikn |
_%ﬁﬁ\&t& Cthis 1S whnere chemi(d Messengels L
1inowh a8 neumansmittess are passed oN. N
Neurotransmitked e released from pesy@p- |
1 He vesides. Neuro transmiggtd tmpack oul L
1mood and  benoviour. for exampw, e NUD= L
1 pransmitter depssen- Serotongl s Wnked with L
lan individuats mood, apperite. and  Seep. Low |
1 ievels of serotonun _has been  linked with mental L
{disorders auch ac depression. Another exampe. 15 L
| dopamuie. Dogamine. has  been aseociaked |
_wmwmmmdm;m%ummf f
|dopamie wre Lnked with symprom$ o Chizdphi=|
enia.

e | T

Leave
blank
Gadewch!
yn wag




Sticky Note

Appropriate terminology used effectively throughout to add detail to the description of the assumption.



Sticky Note

Assumption is clearly linked to psychology with the use of an appropriate example.




Sticky Note

This answer is of an appropriate length for the number of marks available. A number of responses were seen that were too long and therefore candidates penalised themselves by not having enough time for longer answer questions elsewhere on the paper.
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Sticky Note

Appropriate assumption is clearly identified.



Sticky Note

Appropriate assumption is clearly identified.



Sticky Note

Reasonable description of assumption with some link made to psychology. However, the answer lacks the clarity and level of explanation needed for the top band.



Sticky Note

Reasonable description of assumption with some link made to psychology. However lacks the clarity and level of explanation needed for the top band.



Katherine

Sticky Note

Marked set by Katherine
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Sticky Note

Appropriate assumption is clearly identified.



Sticky Note

Appropriate assumption is clearly identified.



Sticky Note

Assumption is described and there is some link made to psychology but is reasonable rather than thorough.



Sticky Note

Assumption is clearly and accurately described.
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Sticky Note

Clear link made between the assumption and a specific area of psychology
















2. Using examples from psychology, describe two assumptions of the biological approach. [4+4]
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3. A psychology student suggests to his teacher that one of the problems with the
behaviourist approach is that it is too simplistic. Explain why this might be considered
a strength OR a weakness of the behaviourist approach. [5]

Credit could be given for explanations of:

e Focus on nurture over nature, ignores factors such as genetics that might affect
behaviour.

¢ Reductionist approach, focus on stimulus response, allows investigation of one
factor to develop treatments and parsimonious explanations.

e Use of animals, makes the knowledge gathered too simplistic to apply to human
behaviour.

e Any other appropriate strength or weakness.

Marks

AO2

5

Application of knowledge linked to the behaviourist approach is relevant.
Explanation and level of accuracy is thorough.
Exemplars used are well-chosen.

34

Application of knowledge linked to the behaviourist approach has some
relevance.

Explanation and level of accuracy is reasonable.

Appropriate exemplars are used.

Application of knowledge linked to the behaviourist approach is
superficial or muddled.

Explanation is basic.

Exemplars not always made relevant.

Inappropriate answer given.
No response attempted.
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Sticky Note

Answer is muddled between reductionism and nomothetic as weaknesses of the approach. Either could have been credited but in this case the explanation is very basic and there are no exemplars from the approach
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Polygonal Line

This section has not been credited as the question asks for an explanation as either a strength or a weakness. Both would be read but the weakness attracts higher marks so this is ignored



Sticky Note

Appropriate weakness identified with some reference to the approach 



Sticky Note

Weakness is explained at a reasonable level
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Sticky Note

Exemplars from the approach are used to add depth to the response



Sticky Note

Weakness is explained thoroughly



Sticky Note

Appropriate weakness identified












3. A psychology student suggests to his teacher that one of the problems with the behaviourist
approach is that it is too simplistic. Explain why this might be considered a strength OR a
weakness of the behaviourist approach. [5]
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4. Compare and contrast the cognitive and psychodynamic approaches in terms of their
similarities and differences. [10]

Credit could be given for:

e Scientific nature, e.g. investigative methods used, unscientific nature of
psychodynamic compared to scientific methods of cognitive approach.

e Determinism, e.g. use of soft determinism in cognitive compared to
psychic determinism of psychodynamic.

¢ Nature/Nurture, e.g. both taken into account by both approaches.

¢ Nomothetic/ldiographic e.g. idiographic approach taken by
psychodynamic compared to nomothetic for cognitive.

¢ Applications to therapy, e.g. use of talking therapy.

e Any other appropriate similarities and differences.

Marks AO3

9-10 | ¢ Thorough discussion is made of both the similarities and
differences.

¢ Depth and range are displayed.

e Structure is logical throughout.

e An appropriate conclusion is reached based on the evidence
presented.

6-8 e Reasonable discussion is made of both the similarities and
differences.

e Depth and range is displayed, although not necessarily in equal
measure.

e Structure is mostly logical.

e A reasonable conclusion is reached based on the evidence
presented.

3-5 e Basic discussion is made of the similarities and differences.

OR

e Reasonable discussion is made of the similarities or
differences.

e Depth or range.

e Structure is reasonable.

e A basic conclusion is reached.

1-2 | ¢ Superficial analysis is made of the similarities and differences.
OR
e Basic analysis is made of similarities or differences.
Answer lacks structure.
¢ No conclusion.
0 e |nappropriate answer given.

e No response attempted.
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Sticky Note

Appropriate difference is clearly identified and use of comparative language helps signpost this to the examiner



Sticky Note

Basic discussion of the difference that would benefit from a more specific example from the approach



Sticky Note

As above an appropriate point has made with some basic discussion



Polygonal Line

It is not appropriate to use assumptions as a comparison point in this question. Wider issues such as their scientific nature should be explored. Therefore this section has not been credited
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Katherine

Polygonal Line

as above - not creditworthy



Sticky Note

Overall this answer contains limited range and depth and there is little evidence of conclusions being drawn. Therefore it cannot be given a mark above the 'basic' band











